SHHHME-IZAL JIZHH 22Xt =1 MEB(ZAIRX) 2F8HH X}
O SAXYCILCHE) U FHeHs e

A H Hetis Ol dEAHEY SAX[G
1 80024 IQF: 010722 PAL]
2 80056 Z=0OH 000903 PAL)]
3 80336 4OF 000314 Z+9l
4 80346 7O¢ 890207 AL
5 80370 Xo& 000313 PAL]
6 80371 LO# 000714 PAXS]
7 80059 Z20¢ 950722 Z7
8 80073 2O 000613 27
9 80100 2102 830708 Z7

10 80190 HEOZ 951228 A712=
11 80049 =0% 930530 CA=]
12 80092 HEOE} 871020 2t
13 80328 JIOES 960212 44t
14 80333 SO 930730 ALt
15 80036 MOH 930618 A
16 80085 203 941207 A
17 80138 2103 921216 A
18 80162 MO=Z 940629 e
19 80167 0|0 911231 A
20 80236 AMON 950313 e
21 80332 HOZ 930628 A
22 80348 0|02 941224 e
23 80358 202 960130 e
24 80373 NIOES 940218 A
25 80029 2O+ 881023 HAL
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SHHCHEMEE XAl JIZHH 22Xt =01 MHE(ZEAIR X) AFSEALL
O SAXYCILCHE) U FHeHs e
A tH Hez Ol dEEd SAX[Y
26 80046 0|0 950125 HAL
27 80156 O 930821 B AL
28 80360 0|O=Z 780715 2k
29 80074 HEOA 001213 NES
30 80168 oY 770407 NES
31 80072 o|OH 930722 M
32 80319 20% 000903 =
33 80337 CI@e: 920313 Xt
34 80127 4O 941013 =1
35 80149 XOE 960622 =Lt
36 80158 HOZ 940512 A=
37 80187 ZOM 000627 =Lk
38 80192 X 0O2 951207 =Lk
39 80194 2O 861021 =Lt
40 80216 HEO 2 911128 =Lk
41 80228 0|0L 940923 =Lk
42 80250 209 880727 A=
43 80318 MOZ 000120 =Lk
44 80321 IO 970217 =ut
45 80136 LtO 2l 931106 =g
46 80148 202! 931209 =g
47 80218 ZOX 930531 S5
48 80273 20& 940125 =2
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